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(c) Discuss the impact of advertising on
adolescents. PSYCHOLOGY
Foa-Roidr e Rere oo Raw - ol
AT 41 | ( General )
(d) What is stress? Describe its causes in Paper : 6.1
detail. 2+8=10 ( Applied Psychol
B9t T 6 2 R PRPTR AR AT | pplied Psychology )
(e) Who is a counselor? Give an account of Full Marks : 80
the characteristics and skills required Time - 3 hours
by a counselor. 2+4+4=10
Counselor (¥7? @& counselor 3 (aME The figures in the margin indicate full marks
HIF THFOYRA e faan o for the questions
() Do students undergo stress? Justify. Answer either in English or in Assamese
Suggest few techniques to manage o )
siress i students. 5+5=10 1. Fill in the blanks/Write True or False :
FreRia B 2u 7 RoR w41 | Brediees a9 5 e 1x10=10
ﬂﬁﬁ'ﬂﬁ]ﬁﬁ@ﬁmﬁ‘ﬂl AR EIVAS KRR £
(g) “Advertisements use celebrities.” Give a (@) Intelligence is measured by ___ tests.
psychological justification of this fact. ?{ﬁiﬂ?ﬂ A «fRerem 3
“Reee SRIPTEI AN W17 R TN (b) Salary is an important aspect of job
AR E TAEFIe i | satisfaction.
(h) Discuss the process of counseling in IS TRy ot sFged we i =W |
detail . .
' {c) Advertisements can influence people.
Counseling 3 #f&R I =2 w1
it R Tz geifiis {1 13 |
(d) Negative stress is known as
* &

RS 5191 Qe =W
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(2) (3)

(e} Counselors give advice. (d) Name two health hazardous habits.

Counselors-4 R 2w 3¢ | w51 TR S A v |
() _____ measures aptitude. (e) What is counseling?
-4 aptitude “f{1% 39 | Counseling W1t &2

(9) OB stands for ___. 3. Write short notes on any four of the

OBt . following : 5%4=20
(h) advertisements are most effective. wets firan & e SRR 5y (ot fers
— Rerw = SSLF 2SR | (@) Psychological tests / TCII@IE e
(i) Trauma is an extreme form of stress. (b) Interview [ JTFFISFE
B’ Carg vieig @ft s @i | (c) Agents of stress / BI*R IEFTZ
G) is the final stage of the counseling (d) Empathy / 7=f®
process. fe)} Yoga / G
Counseling “feFaR ey ffiy tzte . () Job analysis / qf% R
2. Answer the following questions in short : 4. Answer any four of the following questions in
2x5=10 detail : 10x4=40
© 2T WS vy Ted i : o 2P R e BB e T e
() Define Personsiey. (@) What are individual differences? In what
e e fiel | areas do people differ? 2+8=10
(p) What is job description? & eferiz & 2 B & ovge 2 499
3% R W 9 X M3 ?
f What 1§ consumer paychiology? (b) szcussf the concept of job satisfaction
in detail.
a=% (consumer) RS T fF 2
3% TefEe Rac 3z=i ScEms- 3941 |
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